FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
SUPER HEAVY DUTY

WORKSHOP TABLE




“uas spred ay) UO paJeW SJaquinu ay) 01 Yoyew 1ou op asay "AJuo 3ouaiajal 10} ale 3[GeL Saxog JO JUaJU0y) aU) Ul SIaquinu 1ied :81oN

suoddns uoys

1oddng BuoT

sba

doje|qeL

‘ON

Buimeaq

uondiiosag

‘1O

S3X04d 40 LNJLNOD

Pl 1

SUPER HEAVY DUTY WORKSHOP TABLE

www. ForeverRedwood.com



'9zIS uo Bulpuadap Area [|Im arempaey AnoA Jo suolsuawiq

:310N

*(sBa] ay1 01 suoddns Buoj ayr yoene o)
siod .9 X ..8/€

‘(doyages ay1 01 sbaj ay) yoene o)
siog ,.0T X ..8/€

"(sBa] ay1 01 suoddns 1i0ys ayl yoene
01 / "doisjqel ayy 01 sba| ayy yoene o1)
siod .8 X ..8/€

‘ON

Buimeaq

uondiiosag

1S1TT13dVMNMAYVH

P| 2

SUPER HEAVY DUTY WORKSHOP TABLE

www.ForeverRedwood.com



uas slred ay) UO paxJew SJaquinu 8yl 01 Yorew 1ou op asay] “AJuo aouaJajad 1o} e BUIMEI 8yl Ul SIaquinu 1ied :810N

suoddns uoys

1oddng BuoT

sha

dos|qeL

ON

NOILdI40S3d

P|3

SUPER HEAVY DUTY WORKSHOP TABLE

www.ForeverRedwood.com



Step 1: Place the Tabletop (1) upside down. After that, use 3/8"" x 8 bolts (A) and 3/8"" x 10" bolts (B) to attach the legs (2) to
the tabletop, as shown below. Each part has a series of numbers that indicate where to attach the part with the corresponding
number.

3/8” X 10" Bolts

3/8” X 8 Bolts

Step 2: Attach the long support (3) to the legs with 3/8”” x 6”’ bolts (C). Each part has a series of humbers that indicate where to
attach the part with the corresponding number.

3/8” X 6" Bolts

P| 4
SUPER HEAVY DUTY WORKSHOP TABLE
www. ForeverRedwood.com



Step 3: Attach the short support (4) to the legs with 3/8”” x 8°” bolts (A). Each part has a series of numbers that indicate where to

attach the part with the corresponding number.

3/8” X 8" Bolts

This completes the Table assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question, don't

hesitate to call us (866 332 2403) or email us. We are here to support you.

SUPER HEAVY DUTY WORKSHOP TABLE
www. ForeverRedwood.com

P|5



